|

Multiplication (Vertical) Name:
Solve each problem. Answers
1) 1,635 2) 2,882 3) 4,213 4) 3,061
X 9 X 8 X 0 X 4 L
2.
3.
4.
5) 8,954 6) 5,262 7) 9,950 8) 1,327
X 3 X 4 X 2 X 9 5.
6.
7.
8.
9) 5,796 10) 5,602 11) 8,586 12) 9,930
X 6 X 2 X 3 X 8 9.
10.
11.
12.
13) 7,912 14) 1,654 15) 6,869 16) 8,618
X 8 X 8 X 2 X S 13,
14.
15.
16.
17) 4,052 18) 9,166 19) 2,552 20) 4,142
X 7 X 5 X 4 X 9 17
18.
19.
20.
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Multiplication (Vertical) Name: ~ Answer Key
Solve each problem. Answers
1) 1,635 2) 2,882 3) 4,213 4) 3,061
X 9 X 8 X 9 X 4 1. 141715
14,715 23,056 37,917 12,244 ) 23.056
3. 37,917
4 12,244
5 8,954 6) 5,262 ) 9,950 8) 1,327
x 3 x4 . 2 . 9 ;26,862
2 2 21,04 1 11,94
6,86 ,048 9,900 ,943 . 21048
7. 19,900
8. 11,943
9 5,796 10) 5,602 11) 8,586 12) 9,930
X 6 X 2 X 3 X 8 9 34,776
34,776 11,204 25,758 79,440
10. 11,204
1. 25,758
1o 19,440
13) 7,912 14) 1,654 15) 6,869 16) 8,618
x 8 x 8 x 2 L 13. 63,296
63,296 13,232 13,738 43,090
1 13,232
5. 13,738
1. 43,090
17) 4,052 18) 9,166 19) 2,552 20) 4,142
L X 3 x 4 x 9 7. 28,364
28,364 45,830 10,208 37,278
18 45,830
10, 10,208
20, 37,278
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Multiplication (Vertical) Name:
Solve each problem. Answers
26,862 37,917 14,715 34,776
1
12,244 11,204 19,900 23,056
21,048 11,943 25,758 79,440 2.
3.
1) 1,635 2) 2,882 3) 4,213 4) 3,061 4,
X 9 X 8 X 9 X 4
5.
6.
7.
5 8,954 6) 5,262 ) 9,950 8) 1,327 8
X 3 X 4 X 2 X 9
9.
10.
11.
9 5,796 10) 5,602 11) 8,586 12) 9,930 12,
X 6 X 2 X 3 X 8
Modified 1-10 [92[83|75]67|58]50] 42| 33]25]17]
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